Warm Up October 23, 2018

1.) Which deal is the better R —
buy? @

320z -$3.29 24 0z-52.59

2.) If f(x) = 3x +2, g(x) = 3x* - 4%, and h(x) = 4%,
evaluate:

A.) 1(-5) B.) g(-2) C.) h(-2)

3.) Which is longer: 11 meters or 12 yards?
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The Auto-Clean Buffing Machine polishes floors
at g steady rate. Suppose it can finish the floor of

ﬂ@t’vﬁ) square foot}oom i.r

x= TNNUTYS

Y = SJDUQBW*:QJU" rra

Area (square feet)
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Area Polished Per Minute by the Auto-Clean Buffer

I+

Time (minutes)

This graph results from our ordered pairs.

[ts slopeis the ratio of vertical change to
horizontal change between any two
points on the line.
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Main Ideas/Questions

Notes/Examples

Rate of
Change

a ratio that shows how one variable

changes with respect to another.

On a linear graph, this is called the slope of the line!

Slope

e Sopeiswittenasa _TAtl0  of the vertical change (I'1S€, A%

to the horizontal change (F'UT1, X ) between any two points on a
line.

¢ Thisremains constant for any two points on the same line.

o Slope s written as a fraction Simple st form _

e Variable for slope: £

Types of
Slope

v
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positive | negative | zero  jundefined
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Slope from a Table
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Practice Problems

Ex. 1) Ex. 2) Ex. 3)
X Yy X y x ¥
0 5 -2 10 " &
1 10 -4 4 -
2 15 -6 -2 5 35
3 20 -8 -8 : "
< 25 -10 -14
5 30 -12 -20 10 70
I _ changeiny " _ change iny . _ change iny
S1OP€ = Change in x SYOP€ = Change in x S1OP€ = Change in x




